What I am going to do today is lay the economic foundations of capitalism and begin the discussion of women’s oppression which is rooted in the capitalist economic system. Women’s oppression is broader than the economic forces which I am discussing today and this will be addressed in detail by Nadia Du Monde later in the school. I am certain that others will also add to this discussion as well, so this is not the end of the discussion of women’s oppression, it is instead an attempt to locate part of this oppression in the context of capitalist economic relations (which include production, consumption, exchange and distribution).  Much of the dynamic of women’s oppression takes place in the political sphere, but there is an underlying economic component which is what I will be addressing. 
1. Capitalist Relations of Production
Let’s begin by examining the nature of capitalist relations of production. This is a big topic and I am going to give it short shrift unfortunately or you would have to listen to me literally babble for weeks forget the short time I have today.

What distinguishes capitalism from earlier modes of production? In class societies (e.g., ancient slave societies, feudalism and capitalism) there is a producer class and an appropriator class; one which directly produces goods and the other that appropriates the surplus product produced in these economies. In these earlier societies, the relationship between direct producers and appropriators is based upon laws, custom and habits of the society. In all cases, the direct producers not only need to be maintained, but also need to be reproduced; in the absence of human labour, fields lie fallow and capital is neither produced nor reproduced. It is human labour that not only creates what it needs for its own maintenance and reproduction, but also produces a value above and beyond that subsistence and reproduction. How much of a surplus is produced and who appropriates it depends on the mode of production of the economic system.
How capitalist society differs from earlier class based modes of production comes down to 3 distinct things:
1) Private ownership and control over means of production is in the hands of the capitalist class;

2) The owners of labour power (the working class, the direct producers) must be freed from ties to the land (that characterised feudal production), it must be free to migrate where it is needed (see the elimination of the laws of settlement in Britain), the workers themselves cannot have their alienated (see slavery) and they must be dispossessed (as much as possible) of ownership of the means of production such that they are forced to sell their ability to labour in order to survive (in the absence of a social welfare state and pension system);

3)  As such, production is socialised, but appropriation of the product and the surplus product is privatised. Production of goods takes place to ensure the highest possible surplus produced. Goods will not be produced in the private sector if they cannot yield sufficient surplus and also be sold on the market to realise that surplus (the surplus will take the form of profits, rent, and if the working class through struggle can win it, a surplus portion of wages over and above the social subsistence level of wages).
 The Circuit of Commodities and the Circuit of Capital
We will begin our discussion of the properties of commodities. Commodities possess two things: Use values which relate to the good fulfilling or satisfying a human need or want (or a societal one), it is often used to describe the goods themselves; Exchange value which is what the good exchanges for in the market which expresses the value of the good and which must satisfy a profitability condition or the capitalist will not lay out the money for the production of that good and to bring it to market.  

Marx assumes that when people enter into exchange, they already know the exchange value of what they are exchanging (this holds for commodities and the sale of their labour power); this is a very important assumption. The exchange value is not determined in exchange, its value is realised in exchange. The exchange value of commodities (abstracting from random events which would impact its market price or the price in the market and not its exchange value itself) is determined by the value of direct and indirect labour used in its production process and contains a surplus element created by labour. 

Marx begins chapter 4 (the general formula for capital) of Volume I of Capital by saying that the circulation of commodities is the starting point of capital. What he says is that trade historically presupposes how capital arises, trade predates industrial capitalism. It is a trade from which capital develops.

All trade he argues (irrespective of what the actual use values are) has as its ultimate product money, that in the first forms of capital (merchants and usurers capital), the final consideration is money and it is in the form of money that capital makes its first appearance.

The difference between money as money and money as capital relates to the difference in their form of circulation.

The circuit of commodities takes the form of C-M-C which is the transformation of commodities into money (the seller gets money for commodities) and money into commodities (the seller becomes the buyer takes that money and buys goods with it). This is selling in order to buy.

Alongside the circuit of commodities there is another distinct form with another object; that is the circuit of capital. That is M-C-M. The transformation of money into commodities and its reconversion back into money again.  Here is money as money capital. In the M-C part of the movement, the purchase, the money is changed into a commodity. In the C-M phase, the commodity is changed into money.  The circuit of capital is essentially the exchange of money for money. Marx argues that this circuit would be empty, if in the exchange, we have put forward a certain amount of money and obtain equivalent amounts of money in the exchange.  Wouldn’t it make more sense to hold onto the money rather than risk losing some due to the vagaries of circulation?

In the commodity circuit, money is converted into a commodity and that is its final form. The money has been spent and that is it. In the circuit of capital, M-C-M, the buyer lays out money that he expects as a seller to recover the money at the end. Money is not spent here, money is advanced and it is expected that he will get his money back again at the termination of the circuit; this is buying in order to sell.

 What is the purpose of money in these two circuits? In C-M-C, money serves the intermediate role between the buyer and seller. In M-C-M, the return of the money is the final aim of the circuit when the commodity is sold for money and that returns to the person who laid out the money.  In the circuit of commodities, consumption of use values, the satisfaction of needs, is the final goal.  In the circuit of capital, on the other hand, the final goal is not consumption. Instead, it is concerned with exchange values, that is, this circuit is solely concerned with the return of the money and is dependent upon the sale of the goods that the money is advanced for.

In the circuit of commodities, you as seller bring your commodity to market and get money and then you buy commodities with it. What you receive is essentially traded for an equivalent amount of something else with money standing in as a unit of account between the two distinct commodities. The seller gets money and uses that money as a buyer to buy something of the same value. The end is the consumption of commodities.  In the circuit of capital, if you get the same amount of money at the end of the circuit, then the circuit has failed. The amount you obtain for the sale of the commodity must be greater than that laid out for the purchase of a commodity in the beginning of the circuit. So, the complete form of this circuit is not M-C-M but rather M-C-M’ … why would you enter the risks of circulation if you were not going to gain from it. It is change from M-M’, the change in the amount of money that it the concern, this change in money is what Marx calls surplus value, you get back the original sum plus an increment.

In C-M-C , there is an exchange of equivalent values; if there is a situation where you do not get an exchange of equivalents, that is due to random or accidental circumstances; this circuit is concerned with the satisfaction of human needs. This discussion relates to the notion of reciprocal justice or the equality of exchange of goods in Aristotle’s discussion of exchange. Aristotle argued (and this has been accepted by economists analysing the capitalist economic system) that when goods are traded between people, these goods exchange for an equivalent value.  

However, in M-C-M’ if you do not get the incremental sum at the end of the circuit, you have failed, moreover, if you then only spend that money and take the money out of circulation (and do not reinvest it), then that incremental sum and money are no longer capital (it becomes a hoard and is removed from increasing itself again).  This new sum is then taken and a new cycle starts again with the aim of making more money than you have originally lain out. It is part of a process that is limitless. As a part of this movement, the possessor of money which is invested and earns surplus value; becomes a capitalist. The aim of the capitalist, the valorisation of value, is his aim and it is the appropriation of more wealth that is his concern. The production of use-values (or commodities) is not the aim of the capitalist, nor is the specific return on a single transaction. Instead, it is the unceasing movement of profit-making. But (and in this he differs from a miser who withdraws money from circulation) this is a ceaseless process which requires the capitalist to throw his money into circulation again and again.

However, that increment that surplus value cannot be created in the process of exchange or in the circulation of commodities where things are bought and sold due to the fact that in the circulation process there is always an exchange of equivalents. It comes from the process of production from the use of human labour in the production process. 
2. Necessary and Surplus Labour Time: The working Day
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The easiest way to think about this is that one part of the working day concentrates on the working class producing the goods necessary to reproduce the economy at the same level; that would be the part that is used for covering the wages and reproduction of the working class and replacing capital used up in the production process (include both constant circulating capital and a portion of the constant fixed capital used to replace machinery; depreciation and amortisation of constant fixed capital). The second part of the working day is the production of that value over and above the replacement of the economy at the same level by the working class. Those are hours of work which go beyond those needed to cover worker’s wages and replacement.  That is the surplus labour time in which the value of the surplus product is produced.

Capitalists are concerned with increasing the production of the value of the surplus product, that will (if the product is sold) form the basis of profits when the goods are sold in the market at a price which ensures realisation of the surplus value contained in the commodity (it will also include rent which comes from the surplus, but we will not discuss rent at this point).

Historically, the value of the surplus product was increased through extending the length of the working day. That is called the production of absolute surplus value; you directly increase the amount of time devoted to producing the value of the surplus product. 

But that has historically run into difficulties through demands by the working class calling for shorter working days; from 12 to 10 to 8 hour days.  You could of course run shift work, where you can actually have different shifts of labour working 10 hours each and of course that was introduced and still exists. But back in the 19th century, the factory acts were passed which placed limits on how many hours workers could be forced to work (and also forbade the use of children in some work and the type and time of work that women did as well; there is a reason for this and it is not humanitarian concern for the lives of children and women; child labour as chimney sweeps were not regulated as they were needed to be used in narrow chimneys. So while factories could be run around the clock due to the use of shift work, the amount of hours that each shift would work was steadily reduced.

If you cannot increase the amount of surplus value directly by increasing the length of the working day, what can be done instead to serve the same purpose of increasing the amount of surplus value produced?

What can be done instead is to decrease the amount of time needed to reproduce the economy at the same level; that is to decrease the socially necessary labour time. So that would increase the amount of surplus value produced indirectly; this is called the production of relative surplus value. To decrease the amount of the working day spent on reproduction of variable capital, replacement of constant circulating capital (capital that lasts one production period, raw materials, etc) and to ensure that a portion is set aside for reproduction and replacement of the portion of constant fixed capital (fixed capital is used up in the production process) what could you do?
Machinery
That leads us to the introduction of machinery into the production process and changing the division of labour and putting workers into factories.

Initially tools were developed by human beings (think of bows and arrows) and owned by them. The difference between a tool and a machine as Marx points out is the change in the forces setting in motion of the tool and the machine, the first being human hands and the second being an external force, such as steam and electricity. 

“The implements of labour in the form of machinery necessitate the substitution of natural forces for human force and the conscious application of science, instead of rule of thumb. In manufacture, the organisation of the social labour process is purely subjective; ; it is a combination of detail labourers. In the machinery system, modern industry has a productive organisation that is purely objective, in which the labourer becomes a mere appendage to an already existing material condition of production. In simple cooperation and even in  that found on division of labour, the suppression of the isolated by the collective, workmen still appears to be more or less accidental. Machinery, with a few exceptions […] operates only by means of associated labour, or labour in common.  Hence the cooperative character of the labour process is, in the latter case, a technical necessity dictated by the instruments of labour itself (p. 386, international publishers edition).”

When we look at this transformation we see the alienation of humans from producing things themselves with tools and implements of their own in an isolated manner with their hands under their control to a situation where machines are using them which shifts production out of their control not only physically (due to changes in the motion power of the machines) but also the product out of their control. 

The next point that Marx raises relates to the value transferred by the machine to the product as an intermediary in production.

The productive resulting from cooperation and the division of labour cost nothing to the capitalist. They are the material forces of social labour. The physical forces, steam, water, when appropriated to productive processes also cost nothing. But that does not remove the fact that it is the work of human beings that is required to consume the physical forces in a productive manner. Once a technique of production or the ability is discovered and put into the production process, it then becomes a cost. 
Machinery itself (like all other components of constant capital) creates no new value itself. What it does is give up the value embedded in it (the human labour required to produce it) to the value of the product.  As it contributes to the value of the product, it then forms a part of the value of the product. The product is not cheaper due to the introduction of the machine; rather the product has more value in proportion to the value of the machine. As such, the implement of labour used in modern industry are far more loaded with value compared to those used in handicrafts and manufacturing. 
The machinery does not transfer its value all at once into the labour process, rather it is transferred partly. It doesn’t add more value than is lost, on average, due to wear and tear (depreciation). So, there is a difference between the value of the machine and the value that is transferred to the product and the longer the life of the machine, the greater the difference between the two. The difference between a machine and a tool is the length of time that the machine lasts compared to the tool (durability of metal, the greater economy in the wear and tear of the machine compared to the materials it consumes in production, and also we need to take into account that the field of production is much greater for a machine than a tool.  What modern industry has done is made the product of past labour work on a large scale.
Given that the machine transfers it value to the product over time, the amount of value transferred depends on the total value of the machine. The less labour it contains, the less value it transfers to the product; the less value it gives up, the more productive it is and the more its services approximate those of natural forces. But the production of machinery by machinery lessens its value relatively to its extension and efficiency.
Looking at handicrafts and manufactures and of prices of the same commodities produced there compared to those produced by machinery; in the product of machinery the value due to the instruments of labour increases relatively, but decreases absolutely. The absolute amount decreases, but its amount relative to the total value of the product increases).
So, as long as the labour spent on a machine and consequently the portion off its value added to the product remains smaller than the value added by the workman to the product with his tool, there is always a difference of labour saved in favour of the machine. 
Summing up, using a machine to cheapen the product means that less labour must be spent on producing the machinery that is displaced by the employment of the machine. For the capitalist, instead of paying for the labour, he only pays the value of labour power employed. Given the division of the working day into necessary and surplus labour (which differs in the same industry in different countries, in the same country at different times and in different branches of industry) and given that the actual wage of labourers can rise above or fall below the value of labour power, the difference between the price of machinery and the prices of the labour power replaced by that machinery will vary as well. But the difference between the quantity of labour required to produce that machine and the quantity of labour replaced by that machine is constant. 
It is competition which determines whether the capitalist will introduce the machine and what will determine whether it is used is the relationship between the wage and the value of labour power; the capitalist is concerned with wages paid. So, if it is more expensive to employ the machine rather than pay labour itself, why do it?  An obvious additional consideration is whether a technique of production that is known but is not employed due to insufficient demand for the product (a classic example is the use of coal rather than charcoal in iron production; the technique is known early and used by The Darby works from 1708 to make cast iron), but it is not until the general use of machines increases the demand for iron (and railroad production for that matter) that the industry is  shifted from forests to near iron and coal mines in order to produce the better grade of iron needed for machinery production; this also necessitated better blast furnaces to get a better grade of iron.  
Marx next discusses the impact of the introduction of machinery on workers:

1) The appropriation of the labour of women and children. Machinery changes the amount of strength needed to produce something.   As such, men’s labour is needed less as the machinery can be run by women and children. The use of machinery itself leads to the deskilling of labour and enables the capitalist to substitute the labour of women and children and for that matter unskilled male labour which cheapens the cost of producing commodities. As much as possible, if capitalists can eliminate the differentiation in skills required in the production process, the more they can reduce their costs of production. Deskilling is an essential process for capitalists – it removes the differentiation of concrete labour (the labour of a blacksmith, a weaver) and creates the possibility of turning labour into an amorphous mass of undifferentiated labour power.
2) Prolongation of the working day. The transformation of the labour process beyond what could normally be done with tools and implements to that done with machinery in factories means that not only is there an increase in productivity of labourers and hence more output, it means that the working day itself is extended.   

Given the length of the working day, all other things remaining the same, the exploitation of double the number of workmen demands not only the doubling of the capital invested in machines and buildings, but also double the amount of raw and intermediate goods used in production (think of 2 factories instead of one) (constant returns to scale argument). If you can extend the working day, this allows production on an extended scale without changing the amount of capital laid out in building and machinery (as they are already there). This will mean an increase in surplus value produced but the fixed capital outlay remains the same or may even decrease.

Machinery increases the production of relative surplus value: 1) by directly depreciating the value of labour power (it decreases the time spent on producing the workers consumption bundle); 2) by cheapening the value of labour power by cheapening the commodities that enter into its reproduction, and 3) when it is first introduced into an industry (before generalisation) it converts the labour employed by the owner of the machine into labour of a higher degree and efficiency by raising the social value of the article produced above the individual value which enables the capitalist to replace the value of a day’s labour power by a smaller portion of the value of a day’s product (so we reduce the amount of the product needed to be given out of the total product to labour). This is a super-profit before generalisation of the machine. 

Once the machine is generalised throughout the industry, the social value sinks to individual value and the law that surplus value arises from the labour of those working the machine asserts itself.  Surplus value arises only from the use of variable capital (labour) and the amount of surplus value depends on the rate of surplus value (s/v) and the number of workmen employed.
Given the length of the working day, the rate of surplus value is determined by the relative duration of the necessary labour and of the surplus labour. The number of workers simultaneously employed depending on the ratio of constant to variable capital (c/v). However much the use of machinery may increase the amount of surplus labour at the expense of the necessary labour by increasing the productiveness of labour, it is clear that it gets this result by diminishing the number of workmen employed by a given amount of capital. It converts variable capital invested in labour power into machinery which as it is constant capital does not produce surplus value.

The application of machinery to the production of surplus value implies a contradiction; the rate of surplus value cannot be increased except by decreasing the number of workmen.

The value of the product produced by most advanced technology regulates the value of the commodity (so the cheapest technique determines price), this drives the capitalist to extend the working day to compensate the decrease of the number of labourers by trying to extend not only relative surplus value, but absolute surplus value as well. 

3) Intensification of Labour: The legal limits to working day forced through by working class leads to a further intensification of the working day and to the production of relative surplus value. That is the mode of producing relative surplus value consists in raising the productive power of the workmen to enable him to produce more in a given time with the same expenditure of labour.  This is done in two ways: a) increasing the speed of the machinery and giving the workmen more machinery to run (two instead of one machine); b) improved construction of the machinery is needed as otherwise it is difficult to make the workman be more productive. 
Labour power as commodity
“Labour power or the capacity for labour must be understood as the aggregate of the of those mental and physical capabilities existing in a human being, which he exercises whenever he produces a use value of any description (Marx, Capital, Chapter 6, The Buying and Selling of Labour Power,  p. 167)”

Like commodities, the labour power of human beings which is bought and sold in the market has two components: its use value and its exchange value. The use value relates to whether a human action (a skill or a type of labour) actually produces something that satisfies human and societal needs. The exchange value of labour power relates to the costs of producing and reproducing (this is essential and is discussed by both Smith and Ricardo and is rejected by the wages-fund writers like Nassau Senior) this labour power.  

The value of labour power, that is, the amount that workers can get for the sale of their ability to labour in the market place is not determined in the market-place. Instead, it relates to historical and social conditions that are accepted by society as that which the worker class needs to continue to be able to do their job and to cover those that are not working (either due to youth, age or disability). As such, there is a biological element in this discussion and that relates to what exactly can be the lowest wage possible if there is a generational requirement that the working class needs to reproduce itself (note that this is not always necessary, in various times, working the labourer to death knowing you can get more workers elsewhere has been done; moreover, there is immigration which can replenish the working class if needed).  What workers can get in the marketplace in the final instance depends on the level of class struggle which is an important element that Marx adds to this determination of wages as compared to Smith and Ricardo who had argued that workers could get a portion of the surplus product automatically (due to increased productivity) where the natural wage would rise higher than the subsistence wage.

The interrelationship between production and consumption in capitalism is important; as producers on a social level, workers produce the goods that they will consume as social consumers, that is, they may not be producing final consumption goods consumed by the working class individually (for example, they may be working intermediate goods production or intermediate stages of final consumption goods) but on a social level, workers actually are an inextricable part of both production and consumption (and hence realisation of profits) they only consume a portion of what they produce, that portion purchased from their wages.
How is labour power different from other commodities?   
Labour power is a different form of commodity than other commodities or for that matter other means of production in that it can produce a product or the value of a product over and above what is needed to maintain and replace the society at the same level.  That means that labour power is a source of a value and that makes its use especially important for the creation of surplus value in the production process.

Labour power will be employed, only if it can be used to produce goods and services that enable capitalists to obtain a product (or its value) over and above costs (a surplus or surplus value) which (when the product produced is sold) can be realised as profits. In the absence of the latter, the labour is not hired by employers as their sole interests are current and future profitability. 

As a commodity, labour power is also different from other commodities.  Most importantly, unlike other commodities, there is a moral and historical element to the value of labour power; the commodities composing the workers’ consumption bundle differs in different societies and over time as new products enter it and others fall out of the workers’ consumption bundle.  

Second, human beings die, they become unable to work due to age and infirmity. It cannot be immediately replaced if it wears out and is unable to continue working; on an individual level another labourer can take its place. In fact, as Marx pointed out the creation of a surplus population due to the introduction of machinery means that there are others to take the place of a labourer and they can be brought into production easily. 

“The labour power withdrawn from the market by wear and tear and death, must be constantly replaced by, at the very least, an equal amount of fresh labour power. Hence the sum of the means of subsistence necessary for the labourer’s substitutes, i.e., his children, in order that this race of peculiar commodity owners may perpetuate its appearance in the market (Marx, p. 172)  

But on a social level, it takes time for a child to be able and ready to enter the production process.  Part of its subsistence and reproduction of labour power takes place in production in that labour power is paid for its use in the production process (the waged portion or the paid portion).  However, the actual physical/biological reproduction of labour itself is not done as part of a capitalist production process.  For working class people, the reproduction of labour itself is done in kinship groupings called the family which ensure the continuation of the ability to labour, the physical production of the next generation of workers and caring for those unable to work (food production, nurturing and caring for young and old, education and socialisation of children to prepare them for their future lives as workers).  It is not done capitalistically through the aegis of the market. We will return to this topic later.

Finally, labour power requires training and development of skills; this schooling and training of labour power (education process, apprenticeships, etc) are part of how the specific needs by capitalists for production are met.  As a process (and it is not always complete), the tendency is towards shifting labour from its various concrete forms to a uniform mass of labour that can be switched between different uses and this introduces an important concept of labour mobility and alienation of labourers from their skills as well.
The value of labour power and workers’ wages
The value of labour power is determined, as in the case of every other commodity, by the labour time necessary for the production, and consequently, the reproduction of this special article.  So far as it has value, it represents no more than a definite quantity of the average labour of society incorporated in it. The production of labour power presupposes the existence of labour power. On the individual level, the production of labour power consists in his reproduction of himself or his maintenance (Marx, p. 171). For Marx, the labour time required for the production of labour power reduces itself to that which is necessary for the production of the means of subsistence of the worker; the value of the means of subsistence which is socially and historically determined that is needed for his maintenance and the reproduction of the working class. 

While Lise Vogel argues that this is not clear in Marx’s analysis in Capital, I would disagree, he maintains the argument found in Classical Political Economy (Smith and Ricardo) that the wage must cover subsistence and reproduction of the working class (unlike Nassau Senior who argued that this was a form of slavery as all wages were individual in his version of the wages-fund). However, Vogel is correct that although Marx does flag up the importance of reproduction of the working class, he leaves undeveloped the way in which this social reproduction is actually done and the impact on women as the primary caretaker in the family. 

It is therefore obvious that the value of labour power will vary with the value of goods that the workers need to subsist and reproduce themselves.  In terms of the means of subsistence, some of it is produced for immediate consumption and must be replaced daily (food, water, heating). Other things last for a longer time and will be replaced at intervals (clothing, furniture, cooking utensils, pots and pans).  What is needed to ensure this daily existence must be covered in the value of labour power and to understand how much of the working day is used to produce this. As was stated earlier in our discussion of the production of relative surplus value, decreasing the amount of labour socially required to produce the workers’ consumption bundle is part of the production of necessary social labour time (it does include replacement of constant circulating and a portion of fixed capital that is put aside for replacement as well).

The minimum limit of the value of labour power is determined by the value of commodities without the daily supply of which the labourer cannot renew their vital energy; that is the value of those means of subsistence  that are physically indispensable. If the price of labour power (the wage) falls to this minimum, that means that the wage falls below the value of labour power and the production (and reproduction) of labour itself is endangered. People will not be able to reproduce and the working class itself (if not replenished by immigration) will shrink. 

However, if the wage received does not change, the cheapening of the products consumed by the working class can alter the consumption bundle itself as workers will be able to purchase different quantities of commodities and different types of commodities. The wage bundle itself alters, things fall out of the consumption bundle and new products become necessary.  An obvious example is the mobile phone compared to a landline (the first has become a necessity while the latter becomes something if there is sufficient wages to cover it). 
3. Social Reproduction and Necessary Labour
Necessary Labour essentially consists of 3 things:

1) Maintenance and renewal of workers

2) Subsistence and care of non-working members of the family

3) Reproduction of the labour force through generational changes

Some of these activities are part of the capitalist production process, so the wages paid to labourers for their ability to labour partially cover general maintenance and renewal of the members of the working class. Wages need to cover reproduction of the working class itself. 

However, there are clearly parts of necessary labour that are not done in the context of the capitalist production process.  This labour, which forms part of social reproduction, is done at home without pay. As such, the labourers are not exploited as exploitation occurs in the context of capitalist labour process where labourers produce commodities that have more value than what they receive as wages. Surplus labour time and hence exploitation only can occur in the context of the capitalist labour process. Yet, this domestic labour is an essential part of the reproduction of the working class and is done outside the capitalist labour market itself and this is an essential part of necessary labour although it is unwaged.  

“There is a part of necessary labour that is done domestically as domestic labour; it is the portion of necessary labour performed outside the context of the capitalist economic system. For the reproduction of labour power to take place, both the unpaid domestic component and the social component must be performed. That is, wages may enable a worker to purchase commodities, but additional labour – domestic labour – must generally be performed before these commodities can be consumed.  In addition, many of the labour processes associated with generational replacement of labour-power are carried out as part of domestic labour. In capitalist societies, then, the relationship between surplus and necessary labour time has two aspects. On the one hand, the demarcation between surplus-labour and the social component of necessary labour is obscured through the payment of wages in the capitalist labour process. On the other hand, the domestic component of necessary labour becomes dissociated from wage-labour which is the arena in which surplus labour is performed (Lise Vogel, p. 159).” 

Food needs to be prepared from its raw constituents so that it actually provides nutrition, clothing needs to be cleaned, houses need to be cleaned, care needs to be provided to children, the infirm and sick and to elderly members of the family (or the society) who either cannot work or are no longer able to do so.  This goes on at the individual level and on the society wide level as well.  Most of these processes are independent of the sex of the individual doing it; there is absolutely no reason why a man (of any age) could not take care of the first two.

It is only a very specific part of necessary labour that part of reproduction that requires that women actually do it; that is, the actual physical reproduction of the child, the physical birth process itself is something that can essentially be done only by women; in addition there is the actual act of breast feeding which is an important part of the social bonding process of children (but breastmilk can be pumped and children can be fed by anyone in that case, but we should mention that as it is an essential part of the mother-child relationship and relates to the bonding process itself). In any case, the fact that during portions of the pregnancy and for the immediate period afterwards, women are unable to sell their labour in the marketplace and must essentially be maintained by the wages of her partner (or through maternity leave money which is why that is so important) along with the child. 

This dependence of women on men has a biological component relating to reproduction of the working class during which time (and it is a limited time) where women are essentially dependent upon men.  However, this biological component which is based upon a difference between men and women doesn’t necessarily imply oppression. It is perfectly plausible and it has been the case in previous modes of production that there is a sexual division of labour. What is different in capitalism? The main difference that is clear is that capitalist relations of production only provide for a portion of necessary consumption; the domestic labour portion is done outside the market and consists of unpaid labour. The exploitation of labour is done in the capitalist production process the wage only covers part of the subsistence and reproduction of the working class. Not only is exploitation disguised as the worker receives only the value of their power; but necessary production is separated into social production and private reproduction in the home. 
Social reproduction is not only physical reproduction of giving birth to children; even those who have not done so understand that the physical birth is just the beginning of the process.  It includes education and socialisation, nursing and loving care of the children, ensuring they are clothed, fed, clean, and able to develop as individuals irrespective of what potential role they have in our societies.  Social reproduction involves a whole series of activities to ensure that children can survive in the societies in which we live. Moreover, social reproduction includes caring for the family and the family home, caring, nursing and support for the elderly (in the absence of pensions or inadequate pensions, this is part of general caring in societies), for the sick (children and extended family), and for those with infirmities (the vast majority of caring for its disabled members is done by family members). In the vast majority of cases, this is done by mothers, by daughters, by wives and partners. 

This work is still predominately undertaken by women; usually mothers of the children and in cultures which have a strong extended family, sisters, aunts and grandmothers share this responsibility. Moreover, this work (which involves a wide variety of tasks and skills: cooking, cleaning, sewing, teaching, nursing, caring, socialisation – think what would happen if children are not toilet trained for example or that children do not know that fire can be dangerous,  or that they do not understand the terms “safe” or “dangerous”) is not seen to be work, but falls under the name of social responsibility and there is no financial compensation for this work, it is essentially unpaid labour. 

Social reproduction in the context of a modern nuclear family are tasks that primarily done by women at home for no pay; it is unpaid labour. Moreover, this preserves the absurd idea that women’s paid labour is only “pin money” as it is men that are the primary “bread-winners.” Women are viewed (incorrectly) as only working to supplement their partner or husband’s earnings, but not as supporting the household. This is absurd in many senses: the stagnation (and lowering) of incomes throughout the advanced capitalist world requires both parents to work (if there is a couple) to cover needs (our incomes are not dispensable), single mothers’ earnings are the main support for her family, and hey, guess what, sometimes women actually have the larger income … so a reality check is in order. We are not living in the past (and even then it was not true as women have worked as paid labourers since capitalism has developed) and we need to understand, yes, that women actually do paid labour outside the home. In fact, our incomes are not pin money they are essential to ensure that our family’s incomes enable not the purchase of little luxury goods, but a decent standard of living. 

As this traditional women’s labour is deemed “women’s work,” if it is done for payment, invariably, its skills and importance to society are underrated and wages are low. There is still significant gender job segregation both in terms of type of employment and whether paid labour is full-time or part-time (overwhelmingly, women are overrepresented in part-time work deriving from their responsibilities to home and family). It is assumed that anyone can do traditional women’s work and that skills used are low level, and hence there is a surfeit of people that can do this labour.  Add to that the fact that a lot of this work is unpaid labour done at home, then why should employers hire people to do it?

If sold in the marketplace, women’s traditional labour both exists in the production of goods (e.g., sewing, clothes making, and food production) where labour is highly exploited and women’s labour has always been in use since the beginnings of the capitalist mode of production.  In its more socialised forms often done in the public sector and of a more relatively recent creation in such as in education, child-care, care for the elderly and infirm and in nursing, it has been socialised due to the need to ensure that not only are women able to be in paid employment, but also to reduce the amount of their labour tied up in work at home due to need for them in paid employment during periods of economic growth, war-time, and post-war scenarios where as they were needed to work in the production process itself.  Some of paid women’s traditional labour forms part of what is known as socially necessary labour time (labour that is required to reproduce the economy and society and for that matter, the working class; it is not all of socially necessary labour time as that also relates to workers’ consumption goods, but it is socialised traditional women’s labour).  

Parts of traditional women’s labour have been socialised and brought out of the home especially around the issues of caring. If sold in the market, sometimes it is a luxury good affordable to the wealthy only (i.e., nannies) or those with higher incomes (e.g., child care when there is no free childcare), as I said earlier, education and nursing (once performed by women as part of their tasks in social reproduction) have been socialised. However, most often it is considered low skilled labour done by women. Think about sweated women’s labour in the garment trades doing cutting and sewing, while tailoring was considered a skilled job done by men.

For a lot of it and especially the parts that fall into the service sector, it is a form of work where there are serious limits to profits that can be obtained if any (that means that it is not “productive” of a surplus product; everything is consumed and there is not extra produced and, as such, it is not “productive” labour where more than is needed to reproduce things exactly is needed). Productive labour has a very specific meaning in political economy which relates to the production of a surplus product (classical theory) or surplus value (in Marx). 

What is important to understand is that these forms of work are necessary both that done in the labour market and that at home are extremely important (downright essential) and in its absence, society cannot be reproduced (and we are not only talking about the labour force here). The capitalist economy - like all other class economies preceding it - requires a labour force to do the work as that is from where goods and services are produced and this is from where surplus is derived which if sold can be realised as profit. 

In the absence of human labour deliberately applied in production this just does not happen. Food does not exist, clothes do not exist, and the houses we live in would not exist; unless they are deliberately produced for human use and consumption.

One of the main problems is if these types of labour are brought into the private sector, that they will only be used if they fulfil a profitability criterion for those hiring the labour and selling it as services. What that means is that domestic workers will only be employed as such if their labour can earn a profit for the capitalist or their employer. It also means that it will be demanded only by those that can pay for this labour; that is other workers with higher incomes or directly doing the work for a woman of the ruling classes. As a result, we find women (usually women of colour and migrants) doing the work that they did at home for free for someone else while their children do not have the same – their mother takes care of someone else’s family and their extended family needs to cover their own children.  Moreover, since this is not labour that produces a surplus product the only way to make money on it is to underpay the labourer. This happens for private domestic workers (nannies, house cleaners), those in the privatised care sector, employed as cleaners in hotels, etc. 

If done outside the marketplace, at home, there is no value produced as value is only produced in the context of the sale of labour power in the market for use in production. However, there is no question that this labour indirectly is a part of necessary consumption and if it were paid for it would increase the time needed for the working class to subsist and reproduce and will as such, decrease surplus labour time.

However, while this labour clearly is a portion of worker’s subsistence, it is not done in the context of the capitalist labour market and is unwaged; not only does it not produce a surplus (everything is consumed) it is provided for free at home.  The maintenance of family and home being paid for out of wages (the idea of a family wage) is an issue that is important; if this wage is supposed to cover subsistence and reproduction, it means that it should contain enough to enable the latter while recognising that non-working members have to be provided for.  

If that is the case, what are the wages earned by working women for?  Is that where the idea of pin money comes from? Women have always worked in the context of capitalism (usually as unskilled labour), so does the value of labour power earned by working men and women together constitute what ensures subsistence and reproduction?  Or is it only the wages earned by the main bread winner, i.e., men?  A proper family wage (where the income earned by one working member of the family) has really only existed for those in skilled work and it is more generally tied to wages above the average level of wages. So how do we account for the reproduction of the working class? One thing is the daily maintenance which must be provided (subsistence) or the working class cannot continue working; another is the long-term need for reproduction of the class itself.  

In many senses, as Lise Vogel says, the need for domestic labour conflicts with the need for workers to produce surplus value. So if women are needed in the labour force, the more time domestic labour takes, the less time available for work in the workplace. However, unless the capitalists plan to use a migrant work force in the future, then the working class itself needs to be reproduced.  For that to happen, wages must be abundant for support of the woman and new-born child (or a social welfare state exists to sustain women or maternity benefits are provided to cover these periods). The women and child need to be sustained during this period or generational reproduction cannot occur.

 In the period following world war II where wages and productivity were linked (and workers received part of the surplus product), the need for women to work as paid labour was lessened as the wages brought home were higher. Yet, many women still worked as paid labour while continuing their unpaid labour at home.

 Moreover, the fact that women needed to be brought into work meant that their unpaid work at home actually needed to be made easier. The impossibility of baking bread as you were working in factories meant that prepared bread had to be available to be purchased. Making clothing also takes time; ready-made clothes had to be made available as well if women were to be working in factories. 

This question is especially important if we consider the context of the reality of current capitalist production where the wages of women are essential for a family income as wages have been essentially stagnant and falling since the 1970s. 
4. The Oppression of Women under Capitalism
While there are certainly disagreements among feminists on their understanding of the causes of women’s oppression and how to address it, there is no question that we agree on the fundamental idea that in a world rife with inequality, women still face oppressions that are specific to their sex and/or gender. The understanding of women’s oppression is further complicated by the fact that women’s oppression affects women differently due to different class backgrounds, the different experiences of racism, and their access to wealth and political power. The aims of the different strands of the movement and their understanding of women’s oppression reflect those differences. 

On some issues, clearly we can agree and fight together to obtain reforms. On others, our different histories, classes and experiences produce different needs and hence require different solutions.  If the nature of women’s oppression is simply inequality in accessing political, social and economic rights in a specific context, simple reforms may be able to alter things for the better. Will that solve the problem of women’s oppression? That depends on what you believe are the causes of women’s oppression.

However, the issue of whether the problems that women experience derive from more than the inability to accessing political, social and economic equality, but are conditioned by other things, such as race and class adds additional dimensions to the question.  In order to understand this, we need to understand the role that racism plays in colonialism, imperialism or neo-colonialism and what role racism serves in this process.  

In terms of class, clearly those whose role is solely to ensure the continuation of control over property (and to enable their access to that wealth and power) have different wants and needs than those who also have to work in order to bring income into the home as well as to ensure the social reproduction of their class. 

If we go back to the first struggles around women suffrage, equal access to property, and equal rights (they still have not passed an equal rights amendment in the US btw), we can see differences among women from the beginning. An early struggle for women’s suffrage was led by working class women in the Chartist movement after it became rather clear that the 1832 Reform Act in Britain was not going to benefit the working classes; women’s chartist groups existed and advanced a call for universal suffrage; this was not accepted by most working men of the time, of course; the argument of everything in its time and place is an old one and we always come in last. 

The struggle for voting rights in the US split upper class white women from women of colour and led to a split in the liberal feminist movement; with some women arguing along class lines, saying that poor and uneducated men and black men had the right to vote before they did, they being women of education and property. 

Instead of arguing for accessing the vote for all irrespective of education and property ownership (which was the position fought for others fighting for suffrage), they concentrated on their own needs.  Many women activists of the hard left argued for supporting the extension of suffrage as part of the completion of bourgeois democratic processes; but they never believed that the vote in and of itself would create full equality for women in the context of capitalism (this was the case for Emma Goldman, Clara Zetkin, Alexandra Kollantai and Rosa Luxemburg) .  Some women of the hard left, like Mother Jones, never supported the extension of suffrage as she didn’t believe that equality for the working class could be found in the ballot box.

Moreover, when working class women struggled to form trade unions to fight for better wages and working conditions that did not apply to upper class women in the least; they did not have to work and if these struggles were successful they would threaten upper class women’s interests as their wealth, power and prestige was tied to their husbands; they wanted equality, not to lose access to that which gave them power. In “the social basis of the women’s question,” Alexandra Kollantai speaks of feminists in Russia trying to organise women servants and domestic labourers who then saw these workers trying to get better working conditions and wages against their employers (their selves). So, while the issue of getting suffrage was important, there were things that were of immediate concern to women workers which brought them into conflict with women from other classes.

For socialist feminists, women’s oppression is caused by the existence of property relations and that as long as private property (in the sense of private ownership of capital and land) exists, women will be oppressed.  However, the types of oppression that women face are not ones that all women bear equally and in the same way.  

Moreover, depending on the nature of the societies in which we live, the way in which things are produced and distributed, it means that women’s oppression differs in different societies and that depends on how those societies and economic systems reproduce themselves.

Socialist feminists argue that it was the creation of private property and its reproduction and inheritance that has led to women’s oppression. This is certainly the case for women of the upper classes that had to keep that private property in their family.  But what about women of the non-propertied class, how are they oppressed? 

The form in which women’s oppression appears are not ones that all women bear equally and in the same way.  

Given the existence of private property, an obvious point arises and that brings us back to control over material conditions; once that private property exists and you have control over it, how do you know that it is going to your children rather than the children of someone else?  Enforcement of monogamy and control over women becomes enshrined in society and then in religions to maintain control over that labour which produces that surplus and control over that property.  

Women’s oppression begins with the creation of the surplus produce and private property; it is maintained in the family where we bear the primary responsibility for social reproduction and our secondary status is enshrined in religions and also maintained by the State, whose purpose is to preserve the societies and economies in which we live. 

In different societies, with the existence of private property, women’s roles in society were determined by their class. The role of women of the upper classes in physically producing the next generation of the ruling class was predominant; this also meant controlling their reproduction and limiting their unfettered access to the real world (think of foot-binding in China, purdah in Islamic areas, and the seclusion of royal women) to avoid children born on the wrong side of the sheet for example (unless that was needed for the production of heirs).  Their wealth, inherited from their fathers (or their husband if they survived them) was part of dowries that added to the power and prestige of their husbands and not under their control. They may have controlled the running of the households they lived in, they may have even controlled spending, but political and economic power derived from the power of their husbands and families. 

On the other hand, non-propertied women (the vast majority) worked and created the next generation of those to labour in the field, factories, etc.  In the US south before the civil war, female slaves worked the fields next to men; there was no gender segregation for the slaves. The labour of women was part of the labour of the extended family, we may have had different tasks, but it was not less essential (and it is still essential). In some countries, (not in all), peasant women worked the fields alongside their husbands. Moreover, they also produced subsistence goods for home consumption; they produced clothing, bedding, and food and also raised the children, and took care of the family and the elderly. 

In the early stages of capitalism, the textile industry in Britain was a putting-out industry done at home in periods off harvest season by all members of the family. Children carded fibres; women spun the wool which was then woven by their husbands. The raw materials were provided by employers and the final product was given back to their employers; they owned their spinning wheels and hand looms. 

The first part of the industry which entered the factories was spinning, done traditionally by women. Why was this put in the factories? Because the amount of wool or cotton that was spun was far less than that woven (it took 3 spinners to provide enough for 1 weaver to use) – this produced a blockage in supply of output; while the spinning jenny (1764) still could be used at home, the invention of the water frame meant that spinning could only be done in a factory (located near water) and women entered the factories first. It was only in the 1820s that the power loom ended the craft status of weaving done by men and weaving entered the factories.   The introduction and generalisation of the power loom put a lot of men out of work and lowered wages in the field substantially. Attempts to get women out of the labour force to hire men unemployed by the introduction of machinery can be seen in the factory acts.  

We actually see quite clearly in writings of the time, the beginnings of the argument that it is women’s employment which lead to men’s unemployment rather than recognition that women rarely competed for the same jobs as men. Inevitably, we were employed in extensions of traditional women’s work for low pay and treated as unskilled labour.  Additionally, and this is relevant, the large level of male unemployment created by the introduction of machinery (especially in the textile industry) and the lack of skill required to now do this job once the power loom was generalised created divisions among the working class itself.

Women’s oppression is a combination of social and political relations and their linkage to the economic system of production and reproduction that underlie and reinforce women’s oppression. Although it is the existence of property relations that force all of the direct producers to labour in order to survive, what is it specific to the system of capitalism that facilitates women’s oppression?  That relates to their responsibility for reproduction and for caring for the family. It also lies in political and social oppression which is linked to this; this includes a whole host of issues relating to reproductive rights and autonomy of women’s bodies, access to the same rights that men have in the social and political sphere and the economic exploitation in which we do not have access to the same better remunerated work that men do (there is gender segregation), we do not earn equal pay for the same job and even though we may use the same skills that men do in our work, “women’s work” is treated as low-skilled and remunerated accordingly. There is also our predominance in part-time work due to our domestic responsibilities.
For socialist feminists, women’s oppression under capitalism is two-fold. On the one hand, like all members of the working class, women are exploited under the capitalist economic system. They are exploited as what they receive as wages differs from the value of what they produce as workers. A portion of the goods and services they produce is taken by employers. On the other hand, women face additional oppression and that relates to the process of social reproduction. Women not only produce the next generation of workers, they are also responsible for socialisation and raising their children, they are responsible for maintaining home and household and they are responsible for the care of the infirm and elderly members of the family that are unable to work in the labour market. Moreover, their labour in the home is unpaid; they do it with no recompense. 
The fact that women do work in the labour market for wages (and they have always done so in the capitalist economic system), but are still overwhelmingly responsible for social reproduction at home has impacted women seriously and we can still see this today in the predominance of women in part-time work and in women’s labour force participation rates being smaller than men especially in countries where support in the form of free crèches and pre-school do not exist and women working outside the home are dependent upon the support of other family members to take care of children, the sick and infirm that we are responsible for and the elderly members of society. 

5. The Domestic Labour Debates
The time I have to do this discussion is insufficient, as such, just as I did in my discussion of capitalist property relations, I will be giving the discussion inadequate time; but it is important enough that the issue needs to be addressed.  Part of this discussion addresses the important issue of women that are not in the employed work force, but are part of the reserve army of labour that could be drawn into production if needed. But that is not the whole of this discussion by any means as it was conducted by socialist feminists addressing a very important issue that needs analysing.  

What is it that is specific in the capitalist economic system that relates to women’s oppression that differs from earlier modes of production in terms of its specific impact on women of the labouring classes? Where is the site of this oppression? Is our oppression due to men exploiting us in the home in the sense of having the same role as a capitalist exploiter in the labour market?  Is our unpaid labour at home while still working in the capitalist labour process the problem or is it that women are forced to cover social reproduction at home and, if not employed for pay, essentially dependent upon their husbands financially? 

The domestic labour debates were in some senses extremely useful. They helped socialist and radical feminists to understand the nature of domestic labour as unpaid labour in the household. This is an essential point and it was not coherently developed in Marx’s analysis irrespective of his recognition that the value of labour power included both subsistence and reproduction.

These debates between socialist feminists centred on several issues.  Were women doing unpaid domestic labour at home exploited or oppressed in that situation? Given the need for women to provide for social reproduction and the fact that they are doing unpaid labour in the home, are women being exploited in doing domestic labour at home for no remuneration? If it is not exploitation, what is it? If domestic labour is exploitation, who is exploiting women? If this is exploitation, how can this exploitation be explained or addressed?

If the family is the site of our exploitation or oppression, how can we address this? Do we want to destroy the nuclear family or can this be addressed in and of itself. Given women’s dependence on men to provide the primary means of income, are they exploiting us for our labour?

The discussions essentially split around several points. In Marx’s works, exploitation has a very specific meaning. It refers to the production of surplus value in the labour process over and above the labour time it would take if workers only had to produce the value of labour power (that is the amount of time spent socially producing the necessary commodities required for workers’ subsistence and reproduction. As such, domestic labour since it is not done in the context of a capitalist labour market cannot be exploited; to be exploited you need to be selling your labour power to capitalists to receive wages.  While necessary social labour time and hence social reproduction is partially done in the workplace, what is the role of domestic labour? We have already answered this from a Marxist perspective earlier, but we know that domestic labour performed by working class women ensures the reproduction of the working class that is not covered directly by the wage payment.

In general, those supporting a wages for housework perspective ( Mariarosa Della Costa and Selma James, among others) argued that domestic labour was exploited and hence was productive (again productive in this context, means productive of surplus value). But if what is produced is not sold in the market but rather directly consumed, then what is produced does not constitute production of exchange value. As subsistence production what is produced is consumed, there is no surplus to be sold in the market place (leftovers will be consumed the next day and since they are not sold in the market they do not fit the description of surplus labour production).  Since women doing domestic labour at home were unpaid for their labour, it was proposed that women should be paid for their domestic labour at home. It was also proposed that domestic labour be counted as part of gross domestic product.  A recent version of the argument along the same lines is the idea of wages for parents, chosen by those in the community who will then run locally based crèches funded by the state. 

Since the site of what was perceived to be exploitation was in the family and at home, the issue concentrated on women’s role in the family and their exploitation by men. Men, as such, were argued to be the exploiters and the family itself the site of exploitation. Given women’s dependence on men and their incomes, women needed to earn income based upon their unpaid labour to free them of their dependence so that they could end this exploitation if they chose to do so. This is labour and should be remunerated. 

What we can agree upon is that if this domestic labour was brought into the capitalist labour process, there is no question that it would contribute to the costs of necessary social labour time and thereby (unless there was a massive increase in surplus value in other sectors of production) would impact upon the production of surplus value. But that does not mean that this labour in itself produces a surplus product, it is essentially subsistence labour done outside the capitalist labour process. But if you are going to maintain and reproduce the working class, this labour is essential.

Other suggestions (as that by Angela Davis) to deal with the situation relate to the socialisation of housework so that is a type of paid domestic labour done by paid workers not the women herself in the home. This frees women to work outside the home in the labour market and as such joining the workforce. I advocated a full socialisation of caring (after maternity leave has ended) was proposed as part of the Left Unity employment policy (along with green transformation and the creation of a vertically integrated cooperative sector). The idea contained the possibility of accessing child care available at all hours so that women could (if they chose to do so) not be stuck in low-paying part-time jobs (women often work 2 of these types of jobs), in recognition that there are different work shifts, but just as important, that if women want to pursue further education, do political work, and actually need some time for themselves, they could drop the children off for a few hours (this is not meant to replace parenting) and know that their children will be well taken care of. The centres will also be based in the local community, controlled by the local community in terms of what is offered while funded from central government. Those working there will be trained and will be part of the public sector work which is highly unionised. This could break the separation between the use value of the work itself and its exchange value and could also break the gender segregation in the work. The issue relates not only to children, it also relates to those with infirmities (provision of personal assistants for those that want them rather than be care being provided by family members) and care and support for the elderly. All of these jobs can be provided in the community fulfilling the needs of the community itself and shared by the community if that is what they want.  

In many senses, the current debate in the left on the universal basic income is a generalisation of this discussion but relates more to the issue of surplus population brought about by insufficient availability of employment.
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